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z=zeros (2, 3)
Z =

000

000

>> ones (3,4)
ans =

>> a=rand (3, 3)

a =
0.8147 0.9134 0.2785
0.9058 0.6324 0.5469
0.1270 0.0975 0.9575

>> b=randn (3, 3)

b =
2.7694 0.7254 -0.2050
-1.3499 -0.0631 -0.1241
3.0349 0.7147 1.4897




>> c=eye (3, 3)

c =
1 0 0
0 1
0 1

c =
1 0 0 0 0
0 1 0 0 0
0 0 1 0 0
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>> g=(1:3:10)

1 4 7 10

>> ¢c=(99:3:110)

99 102 105 108
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» A=[2 3 5 8;7 6 8 9;4 8 3 5;1 3 4 8]
A =
2 3 5 8
7 6 8 9
4 8 3 5
1 3 4 8
» A(1:3,3)
ans =
5
8
3
» A(:,3)
ans =
5
8
3
4
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» A(3,:)
ans =
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» c=ones (3)
C =
1 1
1 1
1 1

» D=[c c+2; c+4 c+0]

1 1 1 3 3 3| _ y cH2
1 1 1 3 3 3
T T T 3 3 3
5 5 5 7 7 7 ’,’,,,,,#-c+4
5 5 5 7 7 7
5 5 5 7 7 7
—>»C+6
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» D=[c c+2 c+l; c+4 c+1 c+6]
D:
1 1 1 3 3 3 2 2 2
1 1 1 3 3 3 2 2 2
1 1 1 3 3 3 2 2 2
5 5 5 2 2 2 7 7 7
5 5 5 2 2 2 7 7 7
5 5 5 2 2 2 7 7 7
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» X=[2 5 8;7 8 9;4 3 5;1 4 8]
X =
2 5 8
7 8 9
4 3 5
1 4 8
» X(1,:)=[]
X =
7 8 9
4 3 5
1 4 8
>> X(2,:)=[]
7 8 9
1 4 8
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» X(1,2)=[]

??? Indexed empty matrix assignment is not allowed.
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>B = [1 2 3; 4 5 6; 7 8 9];
>> a = reshape (B, 1, 9)
a =
1 4 7 2 5 8 3 6 9
>> a = reshape (B, [1 9]);

a:
1 4 7 2 5 8 3 6 9
>> c =[6 8;8 6;0 8]

C=
6 8
8 6
6 8

>>V=reshape (c, [1 6])
V:
o 8 o 8 6 8
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> A = [1 2 3 4 5]
A=

1 2 3 4 5
>> B = A'
B =

1

2

3

4

5
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>> A =B
1 2 3
4 5 6
7 8 9
>> B (:, 2) = []
B =
1 3
4 6
7 9
>> C = B'
C:
1 4 7
3 6 9
>> reshape (B, 2, 3)
ans =
1 7 6
4 3 9
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» z=[1+21 3+41i]
7 =
1.0000 + 2.00001 3.0000 + 4.00001
» z'
ans =
1.0000 - 2.00001
3.0000 - 4.00001
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» zZ.!

ans =
1.0000 + 2.00001
3.0000 + 4.00001




